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3 100kN/mM#Z#BZ % -l -~ = -|3mEHERD| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn s 1.00]1 0.00 ~ 5.61 7001 Zhist 1000 ~ 561| 1.58 8.28 ZFh s 1.00] 500 ~ 6.67 70.01| #hiist | 500 ~ 6.67| 1.58 8.28
4 100kN/mM#Z#BZ % -l -~ = -|3mEBRD| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEEZD -~ = = =
ZFh st 1.00/ 0.00 ~ 7.08 89.84| #hilst [000 ~ 7.08| 1.94 10.15 Fh st 1.00|] 5.00 ~ 10.15 89.84| #hilst | 500 ~ 10.15] 1.94 10.15
- 100kN/mM#Z#BZ % -l -~ = -|3mEHBRB| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
ZFh st 1.00/ 0.00 ~ 7.44 95.06| #hilst [000 ~ 7.44| 195 10.21 Fh st 1.00|] 500 ~ 11.12 95.06| #hilst | 500 ~ 11.12] 1.95 10.21
6 100kN/mM%# %% 1.00/ 0,00 ~ 0.71 110.64|3m%E#BZB| - ~ = = -| 100kN/m%#8 %% 1.00/ 11.80 ~ 14.73 110.64|3m%i#BZ% -~ = = =
ZFh st 1.00/0.71 ~ 850 100.00| Zh k14t | 0.00 ~ 850 1.98 10.37 Fh st 1.00] 500 ~ 11.80 100.00( Zh it | 500 ~ 14.73] 1.98 10.37
; 100kN/mMZ# %% 1.00/ 000 ~ 0.95 114.19|3m%E#BZB| - ~ = = -| 100kN/m%#B %% 1.00[ 11.73 ~ 15.81 114.19|3m%#BZ % -~ = = =
Zhn st 1.001 095 ~ 8.73 100.00| #h st 000 ~ 873 2.15 11.29 Zhn st 1.00 500 ~ 11.73 100.00| #h st | 5,00 ~ 1581 2.15 11.29
g 100kN/mM%# %% 1.00/ 000 ~ 0.75 111.26|3m%E#BZB| - ~ = = -| 100kN/m%#B %% 1.00[ 12.10 ~ 1546 111.26|3m%#BZ 2 -~ = = =
Fh st 1.00/0.75 ~ 854 100.00| Zhll4t | 000 ~ 854 2.13 11.16 Fh st 1.00] 500 ~ 12.10 100.00( Zhiust | 500 ~ 1546| 2.13 11.16
9 100kN/mMZ# %% 1.00/ 0.00 ~ 056 108.25|3m%EHBZB| - ~ = = -| 100kN/m%#B %% 1.00| 12.02 ~ 14.32 108.25|3m%E#BZ % -~ = = =
Zhn st 1.001 0.56 ~ 8.34 100.00| #h1 st | 0.00 ~ 8.34| 1.96 10.30 Zhn st 1.00| 5.00 ~ 12.02 100.00] #h st | 5.00 ~ 14.32| 1.96 10.30
10 100kN/mM#Z#BZ % -l -~ = -|3mEBRD| - ~ = = -| 100kN/mM%E# %% = -~ = -|3mEBZD -~ = = =
Zhn st 1.00{0.00 ~ 6.75 85.25| #h L4 | 000 ~ 6.75| 1.57 8.23 Zhn st 1.00] 500 ~ 9.23 85.25| #h st | 5.00 ~ 9.23| 1.57 8.23
» 100kN/mZ# %% 1.00/ 0.00 ~ 058 108.62|3m%EH#BZB| - ~ = = -| 100kN/m%#B %% 1.00[ 12.17 ~ 14.66 108.62|3m%E#BZ % -~ = = =
Zhn st 1.001 0.58 ~ 8.37 100.00| #h1 st | 0.00 ~ 8.37| 1.96 10.26 Zn st 1.00] 500 ~ 1217 100.00] Z1 st | 5.00 ~ 14.66| 1.96 10.26
12 100kN/mMZ# %% 1.00/ 000 ~ 1.25 118.94|3m%E#BZB| - ~ = = -| 100kN/m%#B %% 1.00| 12.26 ~ 19.24 118.94|3m%i#BZ % -~ = = =
ZFh st 1.00|1.25 ~ 9.04 100.00| Zh 4t |0.00 ~ 9.04 2.12 11.11 Fh st 1.00] 500 ~ 1226 100.00( Zhiust | 500 ~ 19.24| 2.12 11.11
13 100kN/mM%# %% 1.00/ 000 ~ 0.49 107.28|3m%EHBZB| - ~ = = -| 100kN/m%#B %% 1.00| 12.38 ~ 14,53 107.28|3m%#BZ % -~ = = =
Zhn st 1.001 049 ~ 8.28 100.00| #h st [ 000 ~ 8.28( 1.94 10.20 Zhn st 1.00] 5.00 ~ 12.38 100.00| Zh st | 5.00 ~ 1453| 1.94 10.20
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnst ~ Zh s ~ Zhn st ~ Zh st ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh st ~ Zhn st ~ Fh st ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~ |
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